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<#pgmhE ] -438E>
[E—IK] IEER L=97.9m HILFESW=5 0~5 4m GH¥BESW=S5 7~6.1m)
[#BhdER]  SHEATRITA=522m, EERL (R4 - B - 15cm) L=194. 3m
[E-TIR] IFEER L=8.8m mRIESW=50m (EHRESE¥=40m)
[#BhxiR]  SHEATRTA-482m. XEHRT (%2 - B - 15cm) L=118. 6m
‘ (R&R - F| - 15em} L=4.0m. (FE#& -8 -30m) L=2.4m
(&g - B - 45cm) L=28. 3m
<HEPAMBSE >
TEEERE L=144.6m BIREW=4 §~5 4m (EBRIEEW=6. 0~6. 1m)
[#BhxdR] SHESTHRTA=-T21m, EKE#HET (8242 - B - 15cm) L=282. 2m
{R#R - 3 - 15om) L=3.8m. (X - ¥ - 15cm) L=38.6m
[FiE Y] Uz Z=H#ETIN=-1 S5, UEAEHSEIN-180
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